Question 1-2

In a national study of Parkinson’s disease (a progressive neurological disease of the elderly),207 newly-diagnosed male patients aged 60 years or more were recruited 

over the period 1980-1990. 706 male subjects aged over 60 years without Parkinson’s disease were chosen at random from the national population. All subjects were interviewed and asked about alcohol drinking and other exposures. 

1. A  proportion of cases identified were too unwell to give consent, and could not be interviewed. They were excluded from the study. This may give rise to concern about:

a. Non differential misclassification of exposure.

b. Differential misclassification of exposure.

c. Differential misclassification of outcome.

d. Selection bias.

2. For some of the cases and the controls, the questions were answered by a relative at interview. In this situation, you would be concerned about:

a. Differential misclassification of outcome.

b. Interviewer bias.

c. Observer bias.

d. Non- Differential misclassification of exposure.

3. In a case-control study of ovarian cancer, there were 235 cases and 451 controls.

40 cases and 118 controls reported that they had used oral contraception. The estimated odds ratio for ovarian cancer associated with the use of oral contraception is:

a. 0.58

b. 0.65

c. 1.73

d. 1.54

e. 0.69

4. The strength of an association between a factor and a disease is best measured by the:

a. Incubation period

b. Incidence of the disease in the total population

c. Prevalence of the factor

d. Attributable risk

e. Risk or rate ratio

5. The incidence rate of a disease is five times greater in men than in women, but the prevalence rate shows no sex difference. The most likely explanation is that:

a. The duration of the disease is greater in women

b. The case fatality ratio is greater in women

c. The mortality rate is greater in women

d. Women receive less adequate medical care for the disease

e. The diagnosis is more often missed in women

.
   The following data were gathered from the Framingham Heart Study, an ongoing study in the town of Framingham, Massachusetts.  In 1972, 1800 men were examined and it was determined that 500 had high blood pressure (HBP). The men were then followed for the next 18 years to determine how many developed cardiovascular disease (CVD) during that time period. One hundred and sixtymen were diagnosed with cardiovascular disease; of these 160, ninety were initially diagnosed with high blood pressure as well. 

a.     Construct a 2x2 table for these data: 

	
	CVD
	No CVD
	total

	HBP
	
	
	

	Normal
	
	
	

	total
	
	
	


      b.     Calculate the appropriate measure of association, and state what it means. 
After doing the above analysis, a small, but significant fraction of the men were lost to follow up   due to immigration, change of hospitals or doctors, etc… This loss was higher among those who were diagnosed with high blood pressure (15% loss to follow up) than among those that didn’t have HBP (5% loss  to follow up). No data was available for the disease status. In this situation, we have no outcome data on these individuals who were lost to follow up. (แสดงการคำนวณ รวม 20 คะแนน)
a.      Construct a 2x2 table for these data. 
b.    Calculate the appropriate measure of association, and state what it means.
c. Did loss to follow up in the study alter the conclusions? If so, what conclusion would you  reach now? 

d.    What is the name of the error we mentioned in (c)? 
